=5000

N
o

A4000
x

N
o

o
V3000

< O X > (um) for PV

< d x > tor merged vertices (um)
(@)

|
o))
o

2000 _20f
1000f----+- S _aof
OpF----:= b o REN I I Tooooe i

9

=

[S]

(]
T T T

o200 <2000k S |
g g Lo g 1 - R
£ z -
0.95F -5+ o T T
055 =15 =10 5 0 B 10 15 20 0555 510 15 20

Vertex z (cm) Vertex z (cm) Vertex z (cm)

M_original_step2_tthar-phasel-newgeom
é pixelCPE stN{TZ ttbar-phasel-newgeom
[\ plerCPENo

atR_step?2_ttbar-phasel-newgeom

[
o

o
!

0

i

200

<py>mm>

o

o

o
TTT T T T

|
a
o
[

-400|

<oy > (um) for PV
o

T
E

B S | S 111 600

200 eebesri bl bk 51000 | ¥
e oo 5 LSl Lo '
x L B : @ F e :
; i1 : £ty E
i oA - - I 4 F T :
oo : : : : : : 0.5 ==~ FB T : : i : : : : : : :
So=i5=i6 5 0 5 10 15 20 -20 =15 =10 15 1520 D0=i5=10 5 0 5 10 15 20

Vertex z (cm) Vertex z (cm) Vertex z (cm)

or \L
[o¢] o
o o
- R
<0z > (um)
o
T
:
X
o o
o o
o o

1
a
o
OI

-1000

0 z > {gr merged vertiges (umy,
o o
8 8

R e AL i

—-1500

1000+

=200k f e i

T T T T T T
1
:
"
<

Il FEEWE PR TS FEEEE FTEEE FTEEe ae . e

o
o
(o]

Ratio
iy
!
J
Ratio
N

10 15 20 -20 - i %5510 10 15 20
Vertex z (cm) Vertex z (cm) Vertex z (cm)



	Contents
	Page 1


